DEPARTMENT OF GOVERNMENT EXAMINATIONS
HIGHER SECONDARY FIRST YEAR EXAMINATION - MARCH — 2018
A

KEY ANSWERS FOR PHYSICS

Note : 1. Choose the correct answer and write the answer with option code in part - |-

2 For Answers in Part Il [l and IV like reasoning, explanation, nar(ation,
te in their own words without changing the concep!

description, students may Wi
3. Answers written only in BLUE or BLACK should be evaluated.
PART - |
Q. [Opt Type - A [ Opt Type - B
No ion ion
1 d |08m d |[MTLT?
5 | a |displacement and acceleration a |R
are proportional 2
3 c |10Nm" d |[5x10°J
4 | a|R d [2m
2
5 d |[2m c |3
6 [ a |[9.8x10°Nm* b |25%
7 C JZmV d 25 km 5-1
8 | d |1.33 a | displacement and acceleration
are proportional |
9 | b [25% d | paramagnetic J
10| d |5x10°J d [0.8m
1] d |[MLT® a |9.8x10° Nm™
12 | ¢ |[energy d {133
13| c |3 c | 10Nm”
14 | d |25kms’ c |energy
15 | d | paramagnetic c |vVa2mv
PART -1l Two Marks Answers
16 | Universal law of gravitation - Correct Statement 2
(or) 2
= &M o Fa 5~ 1
17 |Formula: v=nh or n=x : Ve
o 220 Ve
~ 06 2
- 566.67 Hz 5
Yes, audible to human ears. /2
18 | Power of a lens - Definition. 2
=% (only formula) 1 2
Fg ( P=F.v 1
=2000x 8 ; | Ve+ 2
- 16000 W (or) any equivalent answer [Z]
20 | (i) Stable equilibrium
' (ii) Unstable equilibrium )
(iii) neutral equilibrium 2

(Any one - 1 mark, any 2 - 12 marks)
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Compulsory question :

Reason - The vertical component of the force of surface tension
balances the weight of the insect.

(or) Due to surface tension. (or) water surface behaves like a

stretched membrane.

22

(i) The process must be infinitely slow.
(if) The system should remain in thermal equilibrium (or) system
and surrounding should remain at the same temperature.

23

Light year - Correct Definition
(or)
1 light year = 9.467 x 10" m

[\ ] PN

—

24

Forced vibration - Correct Statement

PART - lli

25

Explanation of
(i) The law of length
(ii) The law of acceleration
(iii) The law of mass
(iv) The law of amplitude
(or)

Tavl (and) T“E

(or) T= ZH\E

(or)

Mentioning the name only

e
V7]

YotV

26

| Law of conservation of angular momentum -
Correct Statement

dL . dL
T-B-E—O (or) =0 (or) 'E--O |

L = lw = constant
(or) Angular momentum of a body = constant

1%

1o

27

It suffers refraction, internal reflection and dispersion.
Explanation of primary and secondary rainbow

(or)
Mentioning the name of primary and secondary rainbow and
Diagram

28

Compulsory question :

@L_T -0
o T (or) Q2= Q4 -
350

= 4200 X 250

Q. = 3266.67
Efficiency, n =1 - -:f (or) n=

350
=17

= 0.2222 (or)22.22%

=T,
T

e

Y2
Vo
Ya
V3

29

Newton’s three laws of motion. (3 x 1 = 3)
(or)
F=ma (or) F'a'f';£
t —_—s —>
action = —reaction (or) F;; = —Fp,

Y2

Yo
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Diagram (three)
v v

12
V2
Ya

o

| Geostationary satellite - Correct Explanation ‘

| 31
|

32 | Any three properties of magnetic lines of force

3Ix1=3 \

33

a_‘;: éi(or)w = F x 22 (or) Equivalent formula
2 1

Substitution

Fz = 25 N

PART - IV

34(a) | Diagram

Explanation for the diagram
R?= P%2+ Q%+ 2PQcos8 (or)
Upto R = P2+ Q%+ 2PQcosb
1 Qsinég

P+Qcos@

a= tan™

(or)

(b)

Diagram

Explanation
dQ=dU=1xC,xdT
dQ' = dU +dW

upto C,dT = C,dT + Pdv

upto ¢, — G, =R

35(a) | Diagram

Explanation
upto

n
1
Ep = sz [Z miriz}
i=1

kinetic energy of rotation = %wzl

ifw=1rads™?!

[=2E, o
or

Ve
Vo
Ve

(b)

Five properties of dia, para, ferro magnetic materials (5 x1 = 5)
(if examples are not given reduce one mark

/

36(a)

Tam*p’r? or T =km*p’r?
Substituting the Dimensional formulae
[MT~?] = [M]* [ML™'T~*)Y [L]*
X+y=1,-y+z=0,-2y =-2
x=0,y=1,z=1

Pr

2

—

(or)
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